Regression trees

Model representation and loss

Herman Kamper

http://www.kamperh.com/



%rgss'\on tcee modal oY

M C, : LRy '( %2 (e
Model: F(z,8)= 2 cmTTxzerd c .l e oo
n o 5 ol'g" '(" =, o TIT
LOSS.- U(@) - z (U(n\ _— '(’ (,Ecn))) - - _'_*-_ e A R e L8 o l— -
n

nT " . /’V ; 0! ‘(
=2 (y°- Y e Tis"ee,Y) Ao ks

o TL e krew Ccegiond

Pocomekass: By ... Ry
(b ok tua C'S‘b :

ST - - 5 G

)
=D ¢ =
Hoews de wa (a_o._w\ @7 " ‘ x“E,Q

'-ﬂ:ttaux \3 L“cuqs e R~



Regression trees

Tree building algorithm
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Regression tree on hitters data
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Years

Years < 4.5
mse = 202734.269
samples = 263
value = 535.926

v f/ \zflse

Hits < 117.5
[mse — 75213.01 5} mse = 193025.735

samples = 90
0! samples = 173
value = 225.831 value = 697.247

mse = 59023.561
samples = 90
value = 464.917




Regression tree on hitters data

Years £ 4.5
mse = 202734.269
samples = 263

value = 535.926

mse = 75213.015
samples = 90
value = 225.831

=

mse = 59023.561
samples = 90
value = 46;1.917
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